= o
A & 0l & AF 2 E A A
20229 = = 0lA LB A DI X
AN ISR 0
e N3N
el JIg=zs8NE (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Il Xl 15,292,675 17,443,387 A2,150,712
= 1,640,000
s 150,000
= 2,431,838
s 11,070,837
tMASEXA 3,423,768 2,348,400 1,075,368
< 1,794,338
[ia 1,629,430
=8N 3,423,768 2,348,400 1,075,368
= 1,794,338
s 1,629,430
SMIUFLENS 0INBENA 3,088,676 2,068,400 1,020,276
= 1,794,338
[ia 1,294,338
307 21201 A 3,088,676 2,068,400 1,020,276
< 1,794,338
s 1,294,338
08 OIXtE2H = 3,088,676 2,068,400 1,020,276
OZ2JIHEENS3 MBI (BE=ER)
3,088,676,000& 3,088,676
< 1,794,338
= 1,294,338
(W) s=dH2a2L-m2 4943 80,000 80,000 0
306 =43 80,000 80,000 0
01 &3 80,000 80,000 0
OMggel E=H3I3 &4
80,000,000& 80,000
SAIYEETUz 02BN 200,000 200,000 0
307 glz2+ol & 200,000 200,000 0
08 OIXt2& = 200,000 200,000 0
OS82 ZAIILLEN3 0IXNEA XA (SH
=) 200,000, 000& 200,000
MASHT S0 FHwSH XN 55,092 0 55,092
308 XX EHSOIA 55,092 0 55,092
07 IXNHHARE = 55,092 0 55,092
O&HFHI S48 FHusSH K&
55,091,572& 55,092
ng=sd 2 224 =X 32,000 34,000 A 2,000
Nl 2 22 =X 32,000 34,000 A 2,000
S ALSHE S ARXT & 32,000 34,000 A 2,000
201 Let24d] 2,000 2,000 0
01 At 22l 2,000 2,000 0




SA - (S) - NRAY - HES 0f o il 2
S ALSHEHEH AL HEEIY 100,000& * 2074 2,000
307 2I2t0l A 30,000 32,000 A2,000
04 CIZ2ZISHAFAIH B X 30,000 32,000 A2,000
O22 X2 & &AL 2,000,000& 2,000
OLAStE MU (SEE5FXY)
10,000,000& 10,000
OS&8= JIgxd At st0tS U3
18,000,000& 18,000
PNRS: R R RS 585,409 529,250 56, 159
DR Fa S AR 585,409 529,250 56, 159
LN RFX 25,080 14,120 10,960
201 B2 | 13,700 3,700 10,000
01 A2 22| bl 13,700 3,700 10,000
OJNEXNIANH 22 HE 1,000,000& 1,000
ORI (M) Z=IH, 2PA I M=
100,000& = 10JH 1,000
O YA 2te3 S M8l
1,000,000& * 80% 800
OfYsAI|g S HE 300,000& * 34 900
OJIgN a4 d2|0= 10,000,000& 10,000
202 04 HI 7,680 6,720 960
01 =2LHO bl 7,680 6,720 960
OJIgXN& R =& bl 7,680,000 7,680
203 R =&l 2,000 2,000 0
03 A=A RE=XY| 2,000 2,000 0
OJNgXN& &5 =&l 2,000,000& 2,000
303 Z A2 1,700 1,700 0
01 ZA3 1,700 1,700 0
OSAJNEHME P 22N Al 1,700
- R 500,000& * 12 A 500
-2 = 300,000& * 22 A 600
& d 200,000& * 32 A 600
Jlggolel & AL XI& 11,000 11,000 0
201 Let2 9| 1,000 1,000 0
01 At 22| bl 1,000 1,000 0
O2=xJ|gel Z=Iy 100,000& = 104 1,000
307 2I2t0l A 10,000 10,000 0
04 CIZ2ZISHAFALH B X 10,000 10,000 0
OJ|golo L sHAL 10,000,000& 10,000
S0y dEdst A& 549,329 504,130 45,199




AN ISR 0
Mo QAMARE
Sl IS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 37,000 17,000 20,000
02 PIZHEHAHEE 37,000 17,000 20,000
O2JIY HZE MYBE N (SHE4239
a) 20,000,000& 20,000
Os4= ZH(Y) *¥ 17,000, 000& 17,000
308 XXM SOIA 512,329 487,130 25,199
3/ 2SO0HetE & X 2 EA I 512,329 487,130 25,199
OADIEZE 22X (E=HILMA)
266,819,000& 266,819
OAJIE ANESHE #5 NIAMNY(B2EHE
83l) 120,510, 000& 120,510
Os2JIY 2282 N (BIRIBE S AL
25,000,000& 25,000
Os2J|g dLs NAML(E=EHIALIT)
100,000, 000& 100,000
JIGEEXE 997,090 3,239,114 AN2,242,024
s 150,000
< 17,500
s 829,590
EPNEEN| 997,090 3,239,114 AN2,242,024
s 150,000
= 17,500
s 829,590
PN ONPAE-:! 30,840 27,864 2,976
201 Yet2 | 15,160 5,160 0
01 AL 22l bl 5,160 15,160 0
OFENsX 822 MEH S 4,000& * 1,0000H 4,000
O33J1& R 222 ME 4,000,000 4,000
OZdE BEX3 MHIA AHEZ  3,960,000& 3,960
Oget=&H| 3,200
-EUSRXINYE &9 g+ M
240,000& = 104 2,400
-SRI Mt S MRE ESHl 800,000& 800
202 o4dl 7,680 4,704 2,976
01 = LH o4 1l 7,680 4,704 2,976
EXNFX GRFL A 7,680,000 7,680
203 YR =2t 8,000 8,000 0
03 Al =AY R =& 8,000 8,000 0
OFXsi 2283 3 8,000,000& 8,000
SEXIY X3 966,250 3,211,250 A 2,245,000
s 150,000
< 17,500
s 798,750

w



R A= PRIy
g J1g8dENE

©9: SR (298 R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
402 SI2FXHE0| M 966,250 3,211,250 N2,245,000
Fag 150,000
& 17,500
= 798,750
02 CIZEXIE A EX (0| XM THL) 966,250 3,211,250 N2,245,000
OXNSEXNEE BX2 966,250
~UE0 QU E HUEX BX2(20%)
216,250,000 216,250
hag 150,000
o=} 17,500
= 48,750
-XIM EXRBEEZ2 XA (50%)
750,000,000 750,000
MNEEMNEX AIRA 89 32,496 73,496 A 41,000
NEEXNSX AIRA 29 32,496 73,496 A 41,000
NEaEXNKI AIRA 229 32,496 73,496 A 41,000
201 LBt 24,296 25,296 A 1,000
01 AP 22| H| 13,160 14,160 A 1,000
O0l2a£D| Xz 480,000 480
ONSAMNEL: 29 AZE 2L 800,000& 800
ONMZAIRL Ty dgR
750,000& = 10H ~ 12& 9,000
ONsE=x2 sdH2 240,000 ~ 12€ 2,880
02 2324 11,136 11,136 0
O2322 % HA 5,376
-2 2l gl 240,000 = 1A + 12& 2,880
SHIAIZ2U2 (AL S)
160,000 = 14 = 12€ 1,920
-HOIETV AIEZ 24,0008 ~ 14 ~ 12&8 288
-OIgH4Y AMEZ2 24,000 « 104 « 12€ 288
OXe s Xl 80,000& * 10§ = 12& 960
OXNHERRE 400,000& = 10H ~ 12€ 4,800
202 04| 4,200 4,200 0
01 ZLHO0i bl 4,200 4,200 0
OKNZSEXNEI AIRA d2F8 |
4,200,000& 4,200
203 R F & 4,000 4,000 0
03 AIZH =X 2= X H| 4,000 4,000 0
ONMSEXNEI AMEA EBESES XY
4,000,000& 4,000
AACHR] X 7,680 6,384 1,296
AR 29 K& 7,680 6,384 1,296




25 J19 Xt
Ha: NG X
el MelCX 29 XId CEEEED
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
LA CEX 22| 7,680 6,384 1,296
202 04| 7,680 6,384 1,296
01 2L I 7,680 6,384 1,296
Ot x| 2te] 28 b 7,680,000& 7,680
MAHAST =4 @ 29 9,352,743 9,278,840 73,903
= 1,640,000
= 620,000
= 7,092,743
A AIE XA 9,352,743 9,278,840 73,903
= 1,640,000
= 620,000
= 7,092,743
22 (AR)AMIEX ZZ2H=HEIAE EXAS 1,670,143 0 1,670,143
402 SI2F X201 M 1,670,143 0 1,670,143
03 QI 2t EF A HI 1,670,143 0 1,670,143
OMRMAH S3H=X2IAE XA
1,670, 143,000& 1,670,143
MASX =24 K& 49,600 56,540 AN6,940
201 et d| 24,000 9,960 14,040
02 3244l 24,000 9,960 14,040
OJ|BtAIE &I 2 900,000  12& 10,800
OJ|BIAIE SHae2 500,000& = 12& 6,000
OgeE AT EYON(D-DAS) & Xl
7,200,000& 7,200
202 044l 9,000 7,980 1,020
01 2L I 9,000 7,980 1,020
OfHE XL d2FE Y| 9,000,000& 9,000
1 A& H YL 2] 16,600 38,600 A 22,000
01 Al&H| 10,000 32,000 A 22,000
ObtHEEX] JIBHAIE S X224l 10,000,000 10,000
03 A& 2 0HH]| 6,600 6,600 0
OMHEX JIBHAIA QI3 I A2 3 10|
6,600,000& 6,600
HEAGUI MU HEZ AL 110,000 0 110,000
401 AlEHIZL 2 0HY| 110,000 0 110,000
01 Al&EH| 110,000 0 110,000
O EX] MAEZ EZA
110,000,000 110,000
HEAGUI HAHEZZ SEHAY 1,600,000 600,000 1,000,000
402 SI2F X201 & 1,600,000 597,840 1,002, 160
03 QI 2t EF A HI 1,600,000 597,840 1,002, 160




SA:JIgXED
Hu: MK I8 Y 2Y

Chelr A HX Al H (&)
= - — -|ll:=|
SN FH-SA(EN) - MBAY - BES 0l &k o4 e HlnE2
-/

1,600,000,0002! 1,600,000
SAMNAET BYBLE ALY (HEAY) 886,000 300, 000 586,000
< 620,000
= 266,000
401 Al HI L = Tl 886,000 300, 000 586,000
< 620,000
= 266,000
01 A&l 886,000 300, 000 586,000
OBMNLET BLELET AL AY
886,000,0008 886,000
< 620,000
= 266,000
QBANAC ZBHAHAE XA 3,262,000 714,000 2,548,000
= 881,000
= 2,381,000
402 QIR 01 H 3,262,000 714,000 2,548,000
= 881,000
= 2,381,000
03 B12+SI AL b 3,262,000 714,000 2,548,000
OQZUHER BBHSH2ANE EXAY
3,262,000,0008! 3,262,000
=2 881,000
= 2,381,000
SAMAET ZDHAMEIAL SXAY 1,775,000 0 1,775,000
= 759,000
= 1,016,000
402 QIF X201 R 1,775,000 0 1,775,000
= 759,000
z 1,016,000
03 B12+SI AR b 1,775,000 0 1,775,000
OSMAHST BBHSH2ANE ZX AL
1,775,000,0002 1,775,000
= 759,000
= 1,016,000
HHSAFH (JIYX D) 29,997 27,043 2,954
JI= A (OIS X D) 29,997 27,043 2,954
ol Al 29,997 27,043 2,954
201 et Y| 23,997 21,763 2,234
01 AbR 22l 22,430 20,553 1,877
SHEIRS=Y] 5,910,0002 5,910
ozl 6,000,0008! 6,000
O=ADI YxtE 330,0002! * 1CH * 122 3,960
OF4I| Yxtz 50,0008 * 1CH = 128 600
O#F Y 425 2l 5,960




S JLXR
HI: dNM2HPH (O XK D)

e D28 (I X2 Dt (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-ZZeH 4,400
CEY 440,000 * 10H * 45 = 23| 3,520
-E™ 440,000 = 10H = 23] 880
-YHtZ ey 200,000& = 304 23l 1,200
-FAX EU 120,000& = 1CH = 33l 360
02 2324l 1,567 1,210 357
OdFEHl KA =Hl 1,567
-GS AR D121 1,300,000& = 19CH * 5% 1,235
-Telg 4,000,000& = 400 = 2% 320
—FAX 600,000& = 100 = 2% 12
202 O4dl 2,400 1,680 720
01 = LH 4 1 2,400 1,680 720
OJIgXJn 2= bl 2,400,000& 2,400
203 YR =&l 3,600 3,600 0
04 FN2IELSZAH 3,600 3,600 0
ORN2EYE =4I 300,000& = 123 3,600
MEES(OISEX D) 831,492 1,906,860 A 1,075,368
WEAHN XIS (D1 X 2 1t) 831,492 650,000 181,492
SSUIHINSEIH HES 831,492 0 831,492
701 JIEtSI HEHES 831,492 0 831,492
= 831,492 0 831,492

sSSP HA S8 dE=

831,492,000& 831,492




N & o & AF & H Al A
20228 & =04 BIILUEESIA IS XA
AN ISR 0
AT 24 2 29
chelr NYASET e (SISSEEIAH)(SLSHLESSAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Il Xl 20,089,401 1,274,160 18,815,241
MAET T4 2 2Y 14,157,300 1,151,500 13,005,800
Ao etX 2el(SINLSLIAHN(SSHLELESAH) 14,157,300 1,151,500 13,005,800
A LatH X 2el 1,500 1,500 0
203 YR =& 1,500 1,500 0
03 A FXH S =AY 1,500 1,500 0
OAIMH 2= 1,500,000 1,500
e &EXT SANEAMS 13,912,000 0 13,912,000
401 AIEHI L 2] 13,912,000 0 13,912,000
01 A& Hl 13,252,000 0 13,252,000
OUlA AFXT TANLSAY =H3A
13,252,000, 000& 13,252,000
02 Zeltl 650,000 0 650,000
Ol 43X TAMNSAY ZLHZAF ALA
g2 EY 650,000,000 650,000
03 Al 2 0HHI 10,000 0 10,000
Ol AFXFT ZTANEAY =& AL R0
10,000, 000& 10,000
M Mo HX ZHAS 40,000 0 40,000
401 AIEHI L 2 CHYI 40,000 0 40,000
01 A& HI 40,000 0 40,000
OM= MR ZHAY SNEEA HE
29 40,000,000& 40,000
S0 ZoF 2el 5,000 0 5,000
207 RO 5,000 0 5,000
01 289 5,000 0 5,000
OsAI& 34X EI 9 5,000,000 5,000
ol Bl Bl 198,800 300,000 A 101,200
801 GBI bl 198,800 300,000 A 101,200
01 Broididl 198,800 300,000 A 101,200
Ououldl gl 198,800, 000& 198,800
HE2LAZH(JIG XA D) 20,100 21,100 A 1,000
Jl2ZH(2ZHLsE5AH) 20,100 21,100 A 1,000
Jl=dl 20,100 21,100 A 1,000
201 Let24dH] 20,100 21,100 A 1,000
01 At 22/l 12,100 12,100 0
OAtS 2t el tl 12,100
-Jl2249 3l 2,000,000& 2,000
24N HME 20,0003 = 508 = 13l 1,000

_1_




SA IR
Mo HEHSAAY (OIYXD)

Eel: JI=23H(SYMLEE3A) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
“BAPA =2 8,500,000& = 13| 8,500
-0 dA === 150,0008 * 1% * 4A[2} 600
02 =224l 8,000 9,000 A1,000
O3324gHl 8,000,000& 8,000
HLEs(OILX &) 5,912,001 101,560 5,810,441
BENE(SIENHLSEIA)N(SYMNLSESA) 1 101,560 ~ 101,559
AR BHE S 1 101,560 A 101,559
802 BtEt= DI EF 1 101,560 A 101,559
03 JIEtEtEt 3 S 1 101,560 A 101,559
OW=EX 1,000& 1
HWEAHAXE(SYNLSESAH)(SYMLSESIA) 5,912,000 0 5,912,000
SEMEHESIIZ MlE 5,912,000 0 5,912,000
704 O & = 5,912,000 0 5,912,000
o1 M= 5,912,000 0 5,912,000
OSEMELESIIS WEZ 5,912,000,000& 5,912,000
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